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Question No. 1

Flr T A RT T HIY FT FoH dgW TP F T FEMN? 48 : 122 12 168 : ?
A)288 B)286
C)284 D)290

Which number will best complete the relationship given below? 48 : 122 :: 168 : ?

A)288 B)286
C)284 D)290
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 1) (objection.aspx?qwr=3410133131&qwer=1)

Question No. 2

Ry ¥Er & AF-U1ad HRT % U QRS # Q-gigar R{REAr 15 §1 39 AT Fr 40 wfaRid v §?
A)136 B)105
C)84 D)72

Two-fifths of one-third of three-sevenths of a number is 15. What is 40 per cent of that number?

A)136 B)105
C)84 D)72
Answer Key : B Your Response : A (Wrong) Raise Objection(Question No. 2) (objection.aspx?qwr=3410133131&qwer=2)

Question No. 3

TS AT o 5600 T 5% Ui af e suIsT @ a¥ & AT Ul 6 AN F a¢ I8 3200 I AFHA AT
AR T T A B 3TN 12 AT F aE FRen 3§ TS F T F e A Fel?

A)%.2000 B)%.200

C)%.2400 D)%.400

A man deposits Rs.5600 in a bank at the rate of 5% per annum Simple Interest. He withdraws Rs.3200 after 6
months and the remaining after 12 months. What amount does he get as interest?
A)Rs.2000 B)Rs.200



C)Rs.2400 D)Rs.400
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 3) (objection.aspx?qwr=3410133131&qwer=3)

Question No. 4

AU T g H T B 2?

How many triangles are there in the given figure?




Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 4) (objection.aspx?qwr=3410133131&qwer=4)

Question No. 5
RheTehil, FGT$ HT FA H YOI fefarla 7 ¥ fha aeT & gam A2
A) T B)=iaT

C)aTs R D)er@a13

From which of the following cities did the Chikankari, work of embroidery originate?

A)Ludhiana B)Chamba
C)Barmer D)Lucknow
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 5) (objection.aspx?qwr=3410133131&qwer=5)

Question No. 6
T Bl fFaT 5.9 Ui fhel T aT A 3T A=ar § 3R 37 TFR 3& 20% A @ @i ¥ 5% F ATH FA
¥ faw 3¢ afd frar fFa ferd @ = ST =nfge?
A)T.12 B)%.12.25
C)%.12.31 D)%.11.81

A fruit seller sells mangoes at the rate of Rs.9 per kg and thereby loses 20%. At what price per kg, should he
have sold them to make a profit of 5%?

A)Rs.12 B)Rs.12.25
C)Rs.12.31 D)Rs.11.81
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 6) (objection.aspx?qwr=3410133131&qwer=6)

Question No. 7
AT & ¥ Fl ghr ¥ wafta FE o a1 Fa AEF 8?2
A)ART &Y B) IR grthr
C)fexr amely aMes &9 D)dfFs Mg &9

Which among the following is NOT a trophy or cup related to Hockey?

A)Narang Cup B)Gurmeet Trophy
C)Indira Gandhi Gold Cup D)Bombay Gold Cup
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 7) (objection.aspx?qwr=3410133131&qwer=7)

Question No. 8



1 1 1 1
+ + +
123 234 345 456

LA Fid:

A 730 B. |11/30

C. 13/30 D. | 17/30

1 1 1
+ +
234 345 456

Simplify: . i 5t

A /30 B. 11/30
C. 13/30 D. 17/30
Answer Key : A Your Response : B (Wrong) Raise Objection(Question No. 8) (objection.aspx?qwr=3410133131&qwer=8)

Question No. 9

9reit FT pH AT FT 82



A)7 B)5
C)6 D)8

What is the pH value of water?

A)7 B)5
C)6 D)8
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 9) (objection.aspx?qwr=3410133131&qwer=9)

Question No. 10
TF FR A AR N U O & qg 2 Freieveer ¢ Il 81 3PR 9 oF 6 F a7 f 715 g 35
frailefier o, ar 12 et & ax $r 71§ Fer gt et A2
A)482 et B)456 fareft
C)556 faredr D)552 fareft

The speed of a car increases by 2 km/hr after every one hour. If the distance travelled in the first one hour
was 35 km, what was the total distance travelled in 12 hours?

A)482 km B)456 km
C)556 km D)552 km
Answer Key : D  Your Response : Not Answered Raise Objection(Question No. 10) (objection.aspx?qwr=3410133131&gwer=10)

Question No. 11

IfE |UROT sAreT W eIy 6 asf ¥ gl o ol ¥, o T@ AT A 4 T g S
A)16 a¥ B)14 a¥
C)18 a¥ D)12 a¥

If a sum of money at Simple Interest doubles in 6 years, it will become 4 times in:

A)16 years B)14 years
C)18 years D)12 years
Answer Key : C Your Response : B (Wrong) Raise Objection(Question No. 11) (objection.aspx?qwr=3410133131&qwer=11)

Question No. 12
FleTr T A T T HeY FT Fod dge? TP F QU HEM? 7 : 350 2 81 ?
A)520 B)560
C)620 D)545

Which number will best complete the relationship given below? 7 : 350 :: 8 : ?

A)520 B)560

C)620 D)545

Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 12) (objection.aspx?qwr=3410133131&qwer=12)



Question No. 13
fafaf@a Il @ aauEigds 9§ 3R M Re 7w wea &1 seR & @@ @« H, B, C, D, E, F 3R G
1 W ¢ S IR, R HEEd, IT HREd, cATer e, Fod, Rew AfRERr Ak A RAews F
T AIR-L M,N,P,Q RIRSFRTFA T, dfd sam s FA A T U AT I CdF N &
PrFT A IR TFTA N F AT RRATF TN F Fah ¢ E & IT 3PN 3R dF R § Pw
FH FA &1 H BRIAT AOPN & & 7 FF a1 ¢ 3N 36 L 1 Q F v F7 78 Far g1 s pi
IFN E a8 IF M & AT F1T FIaT §1 S §F L & F19 AT § 98 U fiad 3R &1 F, § Q & e
FH BT gl G, ¥ P & AU t MYy e & dit W S Far §1 D, FW ftwily agt &1 39 =afFd &
NI R § ST dF S F AT FEH AT §?
A)cffiaar 3 B)F ¥ 3rferer
C)dFelsh D)®ReET TR

Read the following information carefully and answer the question given below. A group of seven friends H, B,
C, D, E, F and G work as economist, agriculture officer, IT officer, terminal operator, clerk, forex officer and
research analyst, for banks—L, M, N, P, Q, R and S, but not necessarily in the same order. C works for Bank
N and is neither a research analyst nor a clerk. E is an IT officer and works for Bank R. H works as forex
officer and does not work for Bank L or Q. The one who is an agriculture officer works for Bank M. The one
who works for Bank L works as a terminal operator. F works for Bank Q. G works for Bank P as a research
analyst. D is not an agriculture officer. What is the profession of the person who works for Bank S?

A)Terminal operator B)Agriculture officer
C)Clerk D)Forex officer
Answer Key:D  Your Response : C (Wrong) Raise Objection(Question No. 13) (objection.aspx?qwr=3410133131&qwer=13)

Question No. 14
%2430 & TR Fr A, B 3R C & 99 39 voR snoa Far sar &, & 3 39 ‘¥ 7 & Fen 3.5,
%10 3R %.15 Fa W RBU I €, O v TR 3: 4: 5 F eqara # gl B 7 Rwwr 719 Afdw?
A)%.90 B)%.810
C)%.800 D)%.605

An amount of Rs.2430 is divided among A, B and C such that if their shares are reduced by Rs.5, Rs.10 and
Rs.15 respectively, the remainders shall be in the ratio of 3 : 4 : 5. Find the share of B.

A)Rs.90 B)Rs.810
C)Rs.800 D)Rs.605
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 14) (objection.aspx?qwr=3410133131&qwer=14)

Question No. 15
e g Ffaf@a F ¥ R Qo ¥ g&9fa &7
A)S &e B)cRTehr
C)diel afec D)gsaary



With which of the following sports is Sajan Prakash associated?

A)High jump
C)Pole Vault

Answer Key: B Your Response : B (Correct)

B)Swimming
D)Horse riding
Raise Objection(Question No. 15) (objection.aspx?qwr=3410133131&qwer=15)

Question No. 16

fawedt & @ 3@ 3T &1 g9 A AT BE v e w7 wEd 3=

T U HLET g

e
A -\ B.
C. D.




Choose from the alternatives the figure that best completes the
pattern given below.

v

H

Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 16) (objection.aspx?qwr=3410133131&qwer=16)

Question No. 17
TF R 50 WER § d@ier dlar § B dfFaat sk wist A der g @l Y e arer St i g
HE&r 1024 §, o dfiFaat i dear aa fifsw|
A)38 B)28
C)32 D)22

A farmer plants seeds such that there are equal number of rows and columns. If the total number of seeds to
be planted are 1024, then find the number of rows.

A)38 B)28
C)32 D)22
Answer Key: C  Your Response : Not Answered Raise Objection(Question No. 17) (objection.aspx?qwr=3410133131&qwer=17)

Question No. 18

el garr RArfaf@a F ¥ e o # acarE @ afsa 6 7§ A
A)gor B) eI

S

C)shelehedT D)EEE]

In which of the following cities was Satyagraha Sabha formed by Gandhi?
A)Pune B)Gujarat
C)Calcutta D)Bombay



Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 18) (objection.aspx?qwr=3410133131&gqwer=18)

Question No. 19
Iy ar st el HEar & FRr: 20% AR 50% it §| qEd @EAr @ Rraer gfoRra ugel weAr 87
A)80% B)10%
C)20% D)50%

Two numbers are respectively 20% and 50% more than the third number. What percentage of the second
number is the first number?

A)80% B)10%
C)20% D)50%
Answer Key: A Your Response : C (Wrong) Raise Objection(Question No. 19) (objection.aspx?qwr=3410133131&qwer=19)

Question No. 20

G.VK. 7T afafa Pmfaf@a 7 & ol gedfta 372
A)afEeT 3fRER B)ATAAITEHR
C)TarIdr ST (SAlehcd T HI fdcheglenior) D)aTel &eToT

With which of the following is the G.V.K. Rao Committee associated?

A)Women rights B)Human rights
C)Panchayati raj (Democratic decentralization) D)Child welfare
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 20) (objection.aspx?qwr=3410133131&gwer=20)

Question No. 21

AR | T FITAr IJeSE FRAE! F Fodt F AR W gfaaer Famar g2

A)3iTee 25 B) 3iIeo 26
C)3Tede; 24 D)3tgede 27

Which Article of Indian Constitution prohibits the employment of children in factories?

A)Article 25 B)Article 26
C)Article 24 D)Article 27
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 21) (objection.aspx?qwr=3410133131&qwer=21)

Question No. 22

Hreir F TIAE Tsgafa Pl §2
A)STH ¥ FIs Ahed 8T B)fegeht SHHRIT
C)Tca s fasha=TTash D)ARTer AT

Who is the present President of Sri Lanka?
A)None of the options B)Chandrika Kumaratunga



C)Ratnasiri Wickramanayake D)Maithripala Sirisena
Answer Key:D  Your Response : B (Wrong) Raise Objection(Question No. 22) (objection.aspx?qwr=3410133131&qwer=22)

Question No. 23
R e & 1911 3 f&Fer Sifer i AR AT A IgaR AT & d | sam=r =3r ar?
INEER B)Irsgufd #1det
C)dea 3w sf3ar D)fasrafiar aafiaer

Which structure was constructed to commemorate the visit of King George to India in 1911 ?

A)India Gate B)Rashtrapati Bhawan
C)Gateway of India D)Victoria Memorial
Answer Key: C  Your Response : D (Wrong) Raise Objection(Question No. 23) (objection.aspx?qwr=3410133131&qwer=23)

Question No. 24
I 3. 340 Fr JoaTr 7 FRelr avg 1 5. 350 F qWA W 5% SAreT A YIS v §, A T H AT A
9 il
A)%.160 B)%.50
C)%.225 D)%.200

If 5% more is gained by selling an article for Rs.350 than by selling it for Rs.340, find the cost of the article.

A)Rs.160 B)Rs.50
C)Rs.225 D)Rs.200
Answer Key : D Your Response : Not Answered Raise Objection(Question No. 24) (objection.aspx?qwr=3410133131&qwer=24)

Question No. 25

T # USgufa MHA FT AT § & TsT 1 AT EaRT TrT S @I gl
A)IAS 3SR B)¥Y Irsgufa gant
C)I=T T J=I4Tel D)Irsgufel aRT &l FeasE

The President's rule in a state means that the state is ruled by-

A)IAS officers B)The President directly
C)The Governor of the state D)The Chief Minister nominated by the President
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 25) (objection.aspx?qwr=3410133131&qwer=25)

Question No. 26
AT JERR # FEuET ¥ ¢ 3R S RE 0 9o 1 3R &1 TH IRaR # oF e §- A, B, C,
D, E 3R FI B, C & Y7 &, affhT C, B i #Arar w1t &1 A 3R C v R sher &1 E, C & as1 #1§ 1 D,
A g 81 F, A %7 Brer 1§ 81 B, D & & wafta §?
A)TRT 1S B) &S
C)frar D)sgeT



Read the following information carefully and answer the question given below. A family consists of six
members—A, B, C, D, E and F. B is the son of C, but C is not the mother of B. A and C are a married couple.
E is the elder brother of C. D is the daughter of A. F is the younger brother of A. How is B related to D?

A)Cousin B)Brother
C)Father D)Sister
Answer Key: B Your Response : A (Wrong) Raise Objection(Question No. 26) (objection.aspx?qwr=3410133131&qwer=26)

Question No. 27

@ & ¥ PieT dgAT I 3R arell YgelT SATed AT?

A)sTH ¥ PS AreT A8 B)HASHd Plicled
C)TY TRt D)sfier 3megrar

Who among the following was the first person to land on the moon?

A)None of the options B)Michael Collins
C)Yuri Gagarin D)Neil Armstrong
Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 27) (objection.aspx?qwr=3410133131&qwer=27)

Question No. 28

2l
G

- . - - - e "




Choose the alternative which closely resembles the paper fold of the

given figure.

————————————

Answer Key: A Your Response : A (Correct)

3T T oA
A)EHKM
C)ADGJ

Find the ODD one out.
A)EHKM
C)ADGJ

Answer Key: A Your Response : A (Correct)

Raise Objection(Question No. 28) (objection.aspx?qwr=3410133131&qwer=28)

Question No. 29

B)MPSV
D)BEHK

B)MPSV
D)BEHK
Raise Objection(Question No. 29) (objection.aspx?qwr=3410133131&gqwer=29)

Question No. 30



4
(64)7 EIRIEE G IE Ly

1
A 8 B. | 18
1 1
C = D. | —
64 256
- 4
Find the value of (64 )73
1
A 8 B. | 5
1 1
C = D. | —
64 256
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 30) (objection.aspx?qwr=3410133131&gwer=30)

Question No. 31



TF B FI F99 UTF IR A FiF @ T BT FF AT @ 7
Twiyg HifaT)

@AA@%

o @ 6

SICE=E=

® (O (8) (9)

A 1,48 2376395 B. 189 256 3,47

C. 67289 3,45 D. B & &% 781

Group the given figures into three classes using each figure only

once.
6 () (8) (9)
A 1,48 2376795 B. |18 256 3,47
C. 1,6,7;, 2,8,9; 3,45 D. [MNoneofthese
Answer Key : A Your Response : Not Answered Raise Objection(Question No. 31) (objection.aspx?qwr=3410133131&qwer=31)

Question No. 32

Rvs Taw



A)WR B)AJ

C)OP D)LI
Find the ODD one out.

A)WR B)AJ

C)OP D)LI

Answer Key:D  Your Response : C (Wrong) Raise Objection(Question No. 32) (objection.aspx?qwr=3410133131&qwer=32)

Question No. 33
600 BTt AT TF T A, FFH A M g 12 A€ & I AR A 11 a¥ ¥ AR T A T I 11
af 9 FEW &, o T ¥ FERR B wE A A
A)250 B)450
C)350 D)150

In a school with 600 students, the average age of the boys is 12 years and that of the girls is 11 years. If the
average age of the school is 11 years 9 months, then find the number of girls in the school.

A)250 B)450
C)350 D)150
Answer Key : D  Your Response : Not Answered Raise Objection(Question No. 33) (objection.aspx?qwr=3410133131&qwer=33)

Question No. 34

frfof@a St #t waurEigds 9§ 3R A Re 71w e #1 3R &1 9 vwelie - A, B, C, D 3R E &l
Fe 3R I g A wiaeaat F s of W@ §1 Wl ofet F & <ier W FAr fi7 F IRr v AR o e
AU VAT ST R ¢ ol Fg F E fr Rufa ggelr AR 5 5 7 q@dr ¥1 E F 3reman, A & T qEr
fed ¢ adr &l g5 3R 37N g2, et # v FE F A Uy ¥ C o 17 F ifow wwE w R AR
3 gg # sohr Al suh g Hr Tl & 3 §1 D &1 370 Fg F 3ifaw T §1 C, D & war ¥ IR
P g R ag dl e IR S A A A F = & a7 ¥ 75 719 ¢ & oo =Rt &
T (3ryan) ot Fg Irgar I Fg F Ul sreer-3renT g1 C F SN g7 F T wo F s e F W
e

A)E B)A

C)B D)D



Read the following information carefully and answer the question given below. Five athletes—A, B, C, D and
E participate in a long jump and high jump competition. The fourth tallest of all the five gets the third place in
high jump and second place in long jump. The position of E in long jump is first and second in high jump.
Other than E, A is the only person, whose position in both long jump and high jump are better than his
position in height. C is in the last position in long jump, and his position in high jump is better than his position
in height. D gets the last position in high jump. C is taller than D and no person has the same position in any
two of height, long jump and high jump. It is known that the position of all the persons in height (or) long jump
or high jump are all distinct. The position of C in high jump is equal to whose position in height?

A)E B)A
C)B D)D
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 34) (objection.aspx?qwr=3410133131&qwer=34)

Question No. 35

AT #H gl Jaadir Aster &
A)1951 - 1956 B)1950 - 1955
C)1947 - 1952 D)1949 - 1954

First Five Year Plan in India was from-

A)1951 - 1956 B)1950 - 1955
C)1947 - 1952 D)1949 - 1954
Answer Key: A Your Response : D (Wrong) Raise Objection(Question No. 35) (objection.aspx?qwr=3410133131&qgwer=35)

Question No. 36
T &A1 AR T AT HIY HY FoH R RAF A QU HEM? 5:8 1 15: ?
A)20 B)18
C)21 D)17

Which number will best complete the relationship given below? 5:8 :: 15: ?

A)20 B)18
C)21 D)17
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 36) (objection.aspx?qwr=3410133131&qwer=36)

Question No. 37



ffaf@a &7 & A FEor # sEueEs 96 Ak AR R av wa @ 3ar &) v doge R 5 A
TF ReF TCHT § & F Fl AFT F v F smaas ufaat & af § 3hear 3mag & () 1 FJER,
1993 Fr 23 & 28 9§ F < ¥ gl (i) FH FT AT WIAT F1 3T B (jii) FYX VARG F¥ MCA,
M.Tech., 3f& & &7 & 7 60% 3wl F AT WS B & (iv) TETHR & Fer 50 3 # & F7A §
HA 25 3w W g1 AR FS 3FNEER () & (vi) aF W 3T AMYES B QT FAU/A 8 d 3/ RS s
W & 9 7 fagaa frar Smeem Rl 8 A St 3eiicar @l Aeds @ qu aand 8 R (i)
&, AfheT 38 50% 3 Wrod fam &, O 3§ SfAw behedr ey & ¥ A AT Seem| R 8 A 7
STt 3FfiGar |l ATYES I G @/ g A () F, AfT 1 9T, 1993 Fr 3uH 37 28 I§ & IfOw
3R 32 af ¥ F7 B, A 3@ & & s & G AT I FFAr g1 IR 3HAGER F Fael F B gEew w4
¢, o 3% e ST F W9 A AT AT AN 7 FRIT WEH 7 M.Sc. F 65% 3IH F @Y qoF v 7
3uhr SR-fafd 31 S, 1965 ¥ TF R 4 af F T T & F AR F T F FH F @ ¢
A)SFAIGAR &1 AT STl BT g & e & a8 B)3FHlGaR &1 93 il thehod! WeET & &1 #
AT gram
C)3er 3r9aTed D)3FHIcar &1 gl akss hehed! TETT & FT H AT
QEl]

Study the following information carefully and answer the question given below. The following are the
conditions for the requirement of person as faculty members in a computer education centre. The candidate
must: (i) Be in the range of 23 years to 28 years as on 1 November 1993. (ii) Have work experience or
programming experience. (iii) Have a postgraduate degree in computer application. i.e. MCA, M.Tech., etc.
with at least 60% of marks. (iv) Obtained at least 25 marks in the interview out of a total of 50 marks. In case
a candidate satisfies all the other criteria from (i) to (iv), he/she shall be appointed as a senior faculty member.
In case a candidate satisfies all the other criteria EXCEPT (iii), but has secured 50% marks, he/she should be
appointed as a junior faculty member. In case a candidate satisfies all the other criteria EXCEPT (i), but age is
more than 28 years and less than 32 years as on 1 November 1993, the case may be referred to the director
of the centre. If there is any loss of information in the candidate details, it should be treated as data
inadequate. Manisha has completed M.Sc. in computer science with 65% of marks. Her date of birth is 31
July, 1965. She has been working in an institution as a programmer for the last 4 years.

A)The candidate has to be referred to the director ofB)The candidate has to be appointed as junior faculty

the centre member
C)Data inadequate D)The candidate has to be appointed as senior faculty
member
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 37) (objection.aspx?qwr=3410133131&qwer=37)

Question No. 38
iy R s & Q-fAes F ¥ 50 germ T §, o aRume 39 T & v atug 3R 40 & At F |
1T ¥ 9% W& A 87
A)246 B)174
C)216 D)336



If 50 is subtracted from two-thirds of a number, the result is equal to sum of 40 and one-fourth of that number.
What is the number?

A)246 B)174
C)216 D)336
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 38) (objection.aspx?qwr=3410133131&qwer=38)

Question No. 39

3 faehed 7 waw £ ST s (X) F A4S g0 S0 % 9gd AfdE a9 2

(X)

g .




Choose the alternative fisure which contains figure (X) as its part.

X)

N
C. @ D. @

Answer Key:C  Your Response : A (Wrong) Raise Objection(Question No. 39) (objection.aspx?qwr=3410133131&qwer=39)

Question No. 40
g @ 25 Q. &, 5 J. <Y 3 1 A A AR W NUAER TF wF T4 e g1 o F Fan i
dag AT RS

A)2.5 T B)4.5 &

C)5 #EHex D)3 &R

A metal sheet 25 cm long, 5 cm broad and 1 cm thick is melted into a cube. Find the edge of the cube so
formed.

A)2.5 cm B)4.5 cm
C)5cm D)3 cm
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 40) (objection.aspx?qwr=3410133131&qwer=40)

Question No. 41

aoFEd fFE 78 F e Rua §7?
A) AT B)Hcelst
C)rdr D)7

Taj Mahal is on the banks of the river-
A)Gomti B)Sutlej
C)Ravi D)Yamuna



Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 41) (objection.aspx?qwr=3410133131&qwer=41)

Question No. 42

3 & fr 1f Aa HfSw S 5 6 F 225 Rl fr g a7 A B
A)55 Treli/erer B)45 fefi/eer
C)65 farafi/aer D)40 fraf/aer

Find the speed of a train which covers a distance of 225 km in 5 hours.

A)55 km/hr B)45 km/hr
C)65 km/hr D)40 km/hr
Answer Key: B Your Response : A (Wrong) Raise Objection(Question No. 42) (objection.aspx?qwr=3410133131&qwer=42)

Question No. 43
Hediwad L 121212 + 17.0005 - 9.1102
A)20.0105 B)20.1015
C)20.0015 D)20.0115

Evaluate: 12.1212 + 17.0005 - 9.1102

A)20.0105 B)20.1015
C)20.0015 D)20.0115
Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 43) (objection.aspx?qwr=3410133131&qwer=43)

Question No. 44

AT Ioaw RAed & A=ef@d # & sl9ar 160w FoRd F T &7
A)dis derFel B)dfs #Y
C)ds Sergler D)dTS Hlararierd

Who among the following Governor Generals is associated with Subsidiary Alliance System?

A)Lord Wellesley B)Lord Mayo
C)Lord Dalhousie D)Lord Cornwallis
Answer Key: A Your Response : C (Wrong) Raise Objection(Question No. 44) (objection.aspx?qwr=3410133131&qwer=44)

Question No. 45
39 W #, TF FYA ¢ FuSF M o frsnd R 1w §)| a5 s o S arfes w7 § g9 H3f0F 397w
FYA: TG H Fael IS MIF HART BT 0 §) AR A F A B o SwFT T=IF @ Per
e 1) et F AT R T Wl AR Ay rmarer AT B NI) F TRIE ey ImaTeT ALY 7 8, 556
FHASA # DT gt R I g
A)rad fashy || 3uged gl B)aT | 3R =T & Il 3uged &
C)dhael fashy | 3uged gl D)fersshd | 3R I, et 3ugerd gl



In this question, a statement is given followed by two conclusions. Choose the conclusion(s) that best fit(s)
logically. Statement: Only good singers are invited to the conference. No one without sweet voice is a singer.
Conclusion: I. All invited singers in the conference have sweet voice. Il. Those singers who do not have sweet
voice are not invited to the conference.

A)Only conclusion Il follows B)Neither conclusion | nor Il follows
C)Only conclusion | follows D)Both conclusions | and Il follow
Answer Key : D  Your Response : A (Wrong) Raise Objection(Question No. 45) (objection.aspx?qwr=3410133131&qwer=45)

Question No. 46

10 3K 60 & dfrer Rl HEAM3T F 8 ¥ QUG HWPT T AT B
A)6 B)18
C)9 D)2

How many numbers between 10 and 60 are exactly divisible by 87?

A)6 B)18
C)9 D)2
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 46) (objection.aspx?qwr=3410133131&qwer=46)

Question No. 47
e, FAR 3R RAaT & v Foget T @@ forar on; AR 370 5, 6 AR 7 RE & fAv sFoegar s
39T Fol TN $.24000 AT| FAR EFRT SICA Y 31§ TR 7 Il M|
A)¥.10000 B)¥.6000
C)%.8000 D)¥.10800

A computer was hired by Ganesh, Kumar and Siva, and they used it for 5, 6 and 7 days respectively. Its total
rent was Rs.24000. Find the amount paid by Kumar.

A)Rs.10000 B)Rs.6000
C)Rs.8000 D)Rs.10800
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 47) (objection.aspx?qwr=3410133131&qwer=47)

Question No. 48
Ao oM Fiear A Afaf@a § ¥ Fa A9 ¥ dafta &7
A)Iehm B)@er
C)fshehe D)grehr

Which of the following games is associated with Feroz Shah Kotla ground?

A)Golf B)Rugby
C)Cricket D)Hockey
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 48) (objection.aspx?qwr=3410133131&qwer=48)

Question No. 49



AR # Tgell FEIS HeT Fa JNEA §8 A2
A)1880 B)1601
C)1861 D)1542

When was the first paper currency introduced in India?

A)1880 B)1601
C)1861 D)1542
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 49) (objection.aspx?qwr=3410133131&qwer=49)

Question No. 50
B Tt Fr dad 3.95 81 39 & ar st #r dHea 3.4 8, AR 3w o dEAmsit # e 3.85 B A
o= QY "Eansit 1 Maa frder 872
A)4.9 B)4.6
C)4.2 D)5.1

The average of six numbers is 3.95. The average of two of them is 3.4, and the average of the other two is
3.85. What is the average of the remaining two numbers?

A)4.9 B)4.6
C)4.2 D)5.1
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 50) (objection.aspx?qwr=3410133131&qwer=50)

Question No. 51
39 WA #, IR FuT BT 7w § Oad 9 O frsnd Re aw §)1 39 Fowd ar gof o afdes & & wo
39gFT §1 FYer: 1) W W s 1 2) PG 5F ©igr 1 §1 3) Wl A3 oA §1 4) FT A3 EF §) A L.
Il S & Bl gt B TH FHIEE gl 1. T EF W ¥ . P B W T )
ATl TSRy greeT a1 B)ahadl sy || 3R Il greled aRd g
C)dhaer fasay | 3R Il greled & g D)dhad sy | ureled aar &l

In this question, four statements are given followed by three conclusions. Choose the conclusion(s) which
best fit(s) logically. Statements: 1) All lions are ducks. 2) No duck is horse. 3) All horses are fruits. 4) Some
horses are tanks. Conclusions: I. All ducks being fruits is a possibility. Il. Some tanks are lions. Ill. No fruit is
lion.

A)AIl conclusions follow B)Only conclusion Il and Il follows
C)Only conclusion | and 11l follows D)Only conclusion | follows
Answer Key:D  Your Response : C (Wrong) Raise Objection(Question No. 51) (objection.aspx?qwr=3410133131&gwer=51)

Question No. 52
sgafar & ofg af & sriwrer Hr avEr & $r S g
A)3eTh TelTa GROMH 3 & 31erel feat B)3@ foa & 5w e ag IR Igor & §
C)3ish gavra gRumar #r fafy D)38 #Ag & Ugel foel ST a8 UHR IGUT i &



The five year term of the President is calculated from the-

A)Next day of his election result B)Day he assumes charge
C)Date of his election result D)First day of the month he assumes charge
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 52) (objection.aspx?qwr=3410133131&qwer=52)

Question No. 53

S e T FE FE AT AT L G FAG AL AT T FA AT AT
=997 & XY % |14 7ET ST 2|




Choose the alternative that best resembles the mirror image of the
given figure when the mirror is held along XY.

N4

NINZ » N7
. N7 » [N

Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 53) (objection.aspx?qwr=3410133131&qwer=53)

Question No. 54

IR EER RN P E A R e | CU R L b K R R
Fraferfad arfersT 9§ uF TEr § @g AAT-AenT [49A1 § AT9 A1 g0 9T FH F G

TSI AT 2|
TivoT # & TE FEAN AT BT A AfwaE AT ot &

A (wfemas i)

o | T | ome | ww [ |

(150) (130) (120) (100) (60) (40)
3T a0 50 80 60 70 80
TN 100 S0 80 40 S0 70
T 50 60 70 70 90 70
EICIE] 80 65 80 0 60 60
Hig=T 80 65 85 95 50 90
LEE] 70 75 65 85 40 60
i 65 35 50 77 80 80

A 2 B. |3




Study the following table and answer the question given below it.
The following table represents the percentage of marks chtained by seven
students in six different subjects in an examination.

The number in the brackets give the maximum marks in each subject

Subject (Maximum marks)

Student Maths Chemistry | Physics | Geography History C:;?:r:::r
(150) (130) (120) (100) (60) (40)

Arun 90 50 20 60 70 BO
Akash 100 80 80 40 80 70
Ajay 90 60 T0 T0 90 70
Balaji 80 65 80 80 60 60
Mohan 80 65 85 95 &0 20
Ramesh 70 75 65 Bb 40 60
Surya 65 35 50 77 80 80

How many students obtained 50% and above marks in all the subjects?

A 2 B. 3
C 4 D. ]
Answer Key:C  Your Response : D (Wrong) Raise Objection(Question No. 54) (objection.aspx?qwr=3410133131&qwer=54)

Question No. 55

R & ST ART FT 3T HUSR' & A & FA ST ST 82

A)FE B)deotrat
C)ARere D)fasfRTaeelr

Which of the following places is known as the ‘Granary of South India’?

A)Karur B)Thanjavur
C)Srirangam D)Tiruchirappalli
Answer Key:B  Your Response : D (Wrong) Raise Objection(Question No. 55) (objection.aspx?qwr=3410133131&gwer=55)

Question No. 56

I 2eg 'HORSE' Y 'ESROH' & 9 # Feag Rpar oiel &, o aeg TRAVEL' & T $1z 1 @ aiie?
A)LEARTV B)LEVART
C)LEARVT D)VARTEL

If the word 'HORSE' is coded as 'ESROH', what should be the code for the word 'TRAVEL'?

A)LEARTV B)LEVART
C)LEARVT D)VARTEL
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 56) (objection.aspx?qwr=3410133131&qwer=56)

Question No. 57



WA A F 3TAR & fv &7r se aen fafds gl
A faafds D B)faaif@=r B
C)feafas C D)ferfder A

The vitamin given for the treatment of common cold is-

A)Vitamin D B)Vitamin B
C)Vitamin C D)Vitamin A
Answer Key: C  Your Response : A (Wrong) Raise Objection(Question No. 57) (objection.aspx?qwr=3410133131&qwer=57)

Question No. 58
& 7S Aoy 7 Jo/d TEAT FT 94T FEME| 8, 14, 26, 48, 98, 194, 386
A)48 B) 194
C)14 D)98

Find the wrong number in the given series. 8, 14, 26, 48, 98, 194, 386

A)48 B)194
C)14 D)98
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 58) (objection.aspx?qwr=3410133131&qwer=58)

Question No. 59
Th T H AN FANT A §U, Tk AfGen A Fgl, "SHH Al, AN A A gepolldr & §1" Afem F 37 oW A
A)#T B)&Tl/aTelr
C) g D)ser

Pointing to a man, a woman said, "His mother is the only daughter of my mother." How is the woman related

to the man?

A)Mother B)Grandmother

C)Sister D)Daughter

Answer Key: A Your Response : B (Wrong) Raise Objection(Question No. 59) (objection.aspx?qwr=3410133131&qwer=59)

Question No. 60
AR TooT PR HIST 0o T T4 et fastar af@eaa s §2
A)Tcgsid Y B) gZdRTeT YT
C)31elleh FAR D)aleT dTed Wiech

The first film maker to receive the Bharat Ratna Award was-
A)Satyajit Ray B)Prithviraj Kapoor
C)Ashok Kumar D)Dadasaheb Phalke

Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 60) (objection.aspx?qwr=3410133131&qwer=60)





